® Bx+1)2-2(x+1)(x= 3)=7x>+10x+7

@ <a—&—1 (a—%):aQ—F%

® Bx+5)(2x=7) =6x2+31x-35
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@D 9x? + 6xy + y?(m?) @ 9x% - 6xy + y?(m?)
® 6x% —y*(m?) @ 9x% — y*(m?)

® 9x2 4 y?(m?)



3. x—
(x=1)(x+1)(x* +1)= A7NstA?

D x-
x-1 @ x*-1 B xt
x* -1

@ x2+
1
® x¥*+1



4. Uz 2 AEG F20 HolE x, y O _-23--__ 2y

o Aoz uhs) b 2 ,

@ (2x+2y)(3x +y) = 6% + 8xy + 2 3z

@ (2x-2y)(3x +y) = 6x2 — 4xy — 2y?

® (2x +2y)(3x —y) = 6x% + 4xy — 2y? Y

(3x -
@ (3x+2y)(2x —y) = 6x2 + xy — 2y?

® (3x-=2y)(2x+y) = 6x% — xy — 2y?



5. 2(x-3)%4 (x+2)(3x+ 1) 73] 5}H?

D 2 -5x+20 @ 5x%+5x+20 @ 5x2 —5x—20

@ 5x2 +5x-20 ® 5x2 =5x+20
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@ 18x*+36x+3 @ 36x%2+18x+3
@ 42x% +18x -2 @ 42x2 4+ 24x -2

B 42x2 4+ 36x =2



7. (x-y+2)(x-y-3) HMNoh=tl 7P A= A2?

D {(x=y)+2H{(x—y) -3} @ {x-(+5)Hx-(y-3))
® {(x+2) - yH(x-3)—y @ {x-(+2)H(x-y) -3}
@ {(x-y)+2}{x-(y-3)}



8. (x-D(x-2(x+2)(x+3)& WAL W, 29 ASE Totel?

@D 3 ® 5 B 7 @ =5 B -7



9. 08 & Ashu A gore Ay

@ (a+b)? =a® + 2ab + b*
@ (a-b)? =a® - 2ab + b>
® (a+b)(a-b)=ad>-b?
@ (x+a)(x+b)=x*+(a+b)x+ab

® (ax+ b)(cx +d) = acx® + (ad + bc)x + bd



10. x+y=4, xy=-2L uf, x> +y2 o] gr2?

@D 5 @ 10 ® 15 @ 20 B 25



